0001532457648999

&0 BRANTIAY @0—eo>

9012 45 [EME SO (BANIRISE) 45 1 @
l|az@E#Hel, f(x)=2"—b62x3+ax & 45, RN f(x) =0EERE5>OEMMELL, b4
T <r2<r3<xy<25LTD. TDOODODMRIEEBHNEZLTHY, TORMX0OTHE., ROMIZER

FI,

(1) 3 =0 %Rt
(2) afiizkd &.
(3) 11, 19, x4, x5 %KD&,

(1)‘%”;—"5‘1%}@12£§6{(>0)za€‘(t.
X1 =A3=-2d , X2a=x3-q¢, A4 =As+d, X5 =23+ 2d ¢ 03

S50 X1t A2+237 Ag + X5 = 523

$a4b D Bae 530 - X3=0 @

(2) (D&Y foo= (xe2d)(x+d) X (x~d)(x=-2d) EtFP3 00

'

(2*~4d) (=% X
- ClP T gAY

f ()

T

CFHfr s il J=0 L a4

g

(3) (2) &) A= e Hdsod) A=/
S Esaf% 1 y=-2,-1,0, 1,2

X4 T =2, Xaz=f , Hy=/ . A5 =2

e

174




